MITTAL COMMERCE CLASSES

MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

(GCF-9, 11, 12, 13 & VCF-VDCF-SCF—-3)
DATE: 13.04.2022 MAXIMUM MARKS: 100 TIMING: 2 Hours

BUSINESS MATHEMATICS, REASONING & STATISTICS

1. Ans. C
Explanation:
Taking logarithms, we may write

logy = %[Iog(l— X) —log(1+ x)]

. - ldy 1| -1 1
[differentiation] ——=—| —— —
ydx 2[1-x 14X

By cross multiplication

- Y=y
X

2. Ans. A
Explanation:

ﬂ:axz—ﬁx—lz
dx

ﬂat x=0=-12
dx

3. Ans. B
Explanation:
= R ufaesli, wfa oifed e T8l 8, |ifd (1,2) € R 91 (2,3) € R ofdd (1,3)
R ¥ gfRra &l ¥

4, Ans. C
Explanation:
3x—-4 _x+1-4

>
2 4
12x-16 2 2x-6
10x 2 10
X221

5. Ans. A
Explanation:

Hell BT AT (otf) = _?b=2

ol 1 T (o) = <=

(a+p)=a’+ [ +3apB (a+ p)
(23 =’ + B+ 3(— %) (2)

a+p=1
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6.

10.

11.

12.

Ans. B
Explanation:
By option -1, 3, 4

Ans. B

Explanation:

n(mUE)=n(m)+ n(E) -n(mnNE)

= 40% + 30%-10%

= 60%

S fawal § Il 89 arel faenfeli &1 ufierd = 100% - 60% = 40%.

Ans. C
Explanation:
Let the ages of A and B are 5x and 7x
5x 49 = 2(7x - 9)
5x +9 = 14x - 18
X =3
The present age of B = 7x = 7 X 3 = 21 years.

Ans. A

Explanation:

A=5B,A=3C

A+ B+ C=1380

A+é+é:1380
5 3

A =900

A = 3C

900 = 3C

C=300

Ans. A
Explanation:

Ans. A

Explanation:

M = 80 Ltr.

W = 18 Ltr.

After 49 Ltr. taken out, M = 40 Ltr. & W = 9 Ltr.

40+2x 4
Now, =—
9+X 1

= 40 + 2x = 36 + 4x

= 4 2X

= 2 X
Then, Milk added = 2x = 4 Ltr.

Ans. A
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Explanation:
Previous Mixed
Alcohol 26 100
60
40 : 34
20: 17
Now, Previously 20 = 240 = 1= 12
Then 17 =17 x12
= 204 Ltr.
13. Ans. B
Explanation:
N
West—<&——;
W—’— E
+
S
14, Ans. B
Explanation:

15. Ans. D
Explanation:
-2 -2 ) -2
+2 +2 +2 +2
16. Ans. C
Explanation:
Both.
17. Ans. B

Explanation: +
+ -
Grandfather

18. Ans. C
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Explanation:
2nd = (1st + 1) : 3rd = (2nd + 2); 4th = (3rd + 3); 5th = (4th +4).
U] 18 = B3d US & &RMER el & ? 5th + 5= 14 + 5 = 19.

19. Ans. C
Explanation:
156 + 312 =468
468 + 312 = 780
780 + 312 = 1092
31 1092 Terd |

20. Ans. B
Explanation: _
URAIAR AT I UR 8 < AP © (o ITh 4 Pl e off R8T © |

30km

h 3

20km 20km
N
30km \——l
Starting Point
21. Ans. B
Explanation:

M, N, O,’P,QQ_Cf R &7 RifeT sRoTHe 59 IR &
3T ST A U A% € T Q N BT < =T = |

rA O O =
->——» | T
._._.Q
P M Pl

22. Ans. C
Explanation:
AT B SIS B 2 |

1 2 3 4 5 6 7
Y u
1 2 3 4 5 6 7
T Y W u
1 2 3 4 5 6 |7
T Z Y W | U
1 2 3 4 5 6 7
T Z Y X W u
1 2 3 4 5 6 7
T Z V Y X W u

23. Ans. D
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Explanation:
e A
®)

P Q=5

24. Ans. D
Explanation:
Gfh X FM Y Il Z A BIC §, o X dATY, Z & 9 A1 91 8 | Afdh Y, Z &l 97 7& §,
AT Y, Z B A B

25. Ans. A
Explanation:
Ued + 3, + 6, + 12, + 24,.....
o Rad Ug = 46 + 48 = 94.

26. Ans. B
Explanation:
Sad AN H TR TS G183 T a¥f & | 37
i.e. 22,32,5%,.....,
112,13%,17%,192
Raad gg = 72=49.

27. Ans. C
Explanation:
8251896
Since, in CALICUT, Ciscoded as 8, Aiscodedas 2, Las5,I1as1,Uas 9, Tas 6. So,
code for CALICUT IS 8251896.
Option C is correct.

28. Ans. A
29. Ans. B
Explanation:

L-S
RN o = L+S

o

Stef L Seerds 9+

S —>=FaH A
e o = 20-10 30 _3
40+10 50 5
30. Ans. D
Explanation:
n 1
H.M. = =—
1+3+5.2n-1 n
31. Ans. A
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32.

33.

34.

35.

36.

37.

Ans. C
Explanation:

geAT A : 50 9¥ &1 Afdd 20 99 dHb Silfad &
gl B : 6099 &7 fdd 20 99 ddb Sifdd &7

5 5 6 6
~PA) = — ) ” 6rFkk5P(B6) = §1T6 ==
~PAUB) =42 _5y°0 3t

14 14 14 14 49
Ans. B
Explanation:

A P9 ¥ SI1&T Ogive Th A HI AIHT TR PHICH oIl 2 |

Ans. B
Explanation:

A e (0) = VfaeRT
_ 100 =10

X
mea%ﬂvm( )ﬁﬁ:{?ﬁmgﬁﬁ:
gl = 3 HIfegdl- 2 qed
29=(3x23) 2 e

e = (69—29)/2=20
gxlOO
faeRoT I (Cv) = X

o CV = 10 x 100 = 50%
20

Ans. C
Explanation:

CEISICICIECRE R

Ans. B
Explanation:
n= 32, c=5, 2x=80

2
X7 (;)2
n

a
Il

NG
(5> = —-6.25
32
=x? = 1000
Ans. C
Explanation:

A | o T et &1 o I = g B

ST X (x,-X) <X
n
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38.

39.

40.

41.

42.

10 -10 _10+20+30
20 0 =—3
30 10
= =2
5 0

3 Z(Xi —X)zo

Ans. A
Explanation:
Laspeyre's Price Index is based on base year Quantity.

>P
Since Formula is L=ﬁx100
00

Hence Q, is constant.

Ans. B
Explanation :
Chain index for any year

Link relative (index) of current yearxChain index of the previous year
- 100

Ans. B

Ans. C
Explanation:

A=P (1+Lj
100

( r ]2 .
672 =P |14+—1| ... 0
100

)
714 =P |14+ —| ... (ii)
100
equation (if) 10625 — 14 r
equation (i) ' 100
r=6.25%

Ans. C
Explanation:
Let the sum be Rs. x. Then,
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43.

44,

45,

46.

47.

3
50 343x 127x
C.L.=[ Xx| 1+ X |= X | =
( 3><100j (216 j 216.

127X _1,2700rx=22022210 ; 60,
216 127

Thus,thesumisRs. 2,160.

S.L.=Rs. 2,160x@><3>< 1
3 10

j =Rs.1,080.
0

Ans. C
Explanation:

R

Present value of growing perpetuity = ——

i-g
80

- = 4000
0.07 —0.05

Ans. B
Explanation:
n+2 =n+2

Cr C10-r
or n+2=r+10—r
orn=28

then 8. =

ANS. C
Explanation:

el XY gAY S el € 10,

T B b DR 7 XY TE AR O AT ®
Id AY =10, —7 +1

= 25

Ans. A
Explanation:

fix)=(x—1)>+2 (T T 3mesa®)
AMT(x—1)° +2=y

(x—1)°=y-2

x=(y—2)"3+1

aa: fl=(x—2)"3+1

Ans. C
Explanation:

TIBT Y T = 4P5 x 4]
=24 x 24 = 576
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48. Ans. A
Explanation:

r
Scrap Value = P(1-—)"
crap Value ( 100)

21,870 = P (.9)3
P = Rs. 30,000

49, Ans. B
Explanation:

A=§[(1+r)“—1]

_ R 10 _
400000 = —— [(1 +010)"* - 1]

R = Rs. 25098.16

50. Ans. C
Explanation:

fog (x) = flg(x)]

= f(x*+7)

fog(x) = 2 (x°+7) + 7
fog(x) = 2x>+21
—2x*+21=25

X% =2

X =12

51. Ans. B
Explanation:

1
CAGR = 280 4—1
100

= 29.35%

52. Ans. B
Explanation:

Cl =60000 | 1+ 0 1+ 8 1+ 10 — 60,000 =Rs.15,556.80
100 100 100

53. Ans. A
Explanation:

P:$ [1-(1+0)™"]

5,00,000 =% [1-(1+0.8)7]
R = Rs. 1,é4,o16.75

54, Ans. C
Explanation:

Let the total Capital be Rs. X
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Then lxlxl + 5><i><1 + %xﬁxl =561
3 100 4 100 12 100
X = 6600
55. Ans. A
Explanation:

. _ _ I
I"BANANA" & 3eRI I g9 dTel Ieal &1 I=T = % =60

M,WNWWHﬁ%W=§:20

.31 a¥IdT @Y T = 60-20 = 40

56. Ans. D
Explanation:

A f& Fnpst @ Yo 6X, 4x 3R 3X 2|
ar BX +4x +3x =52

X=4
|IY BICT Yoll Bl orarg = 3x4=12cm

57. Ans. A
Explanation:

nZ(n+1)>2
g (D"

log n® + log (n+1)? - log*
2logn + 2 log (n+1) - 2 log®

58. Ans. B

Explanation:
g = Bt

100 25
3 Xrx
3p = RPXrxes
8 400

r=6%

59. Ans. A
Explanation:
a = 5,00,000, d = 15,000

s, :g[Za +(n—1) d]

10
==-[2 500,000-+ (10-1) 15,000}
= Rs. 56,75,000

60. Ans. C
Explanation:

A= P[1+Lj
100
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61.

62.

63.

64.

65.

Dp_pasr Ly
16 100

Ans. D
Explanation:

x®— (sum of roots) x + product of roots = 0
x2—(2-~3+2++/3) x +(2-+/3) (2++/3) =0
x> —4x+1=0

Ans. B
Explanation :
_2000x5x6

100

SI 600

Ans. A
Explanation:

3p—p[1+ 728
100

r=25%

5p—p[14+2%"
100

t=16years

Ans. C

Explanation:

IPIS 3H TR AR BT ART
=(38+4+5+6) x 3!

= 108

Ans. B
Explanation:

9,G, G, G, G,, 288
| =ar™

288 =9 r°

r°=2°

r=2
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G =ar=9x2=18
G,=ar’ =9x4=36
G,=ar’=9x8=T72
G,=ar’ =9 x16 =144

66. Ans. B
Explanation:

Table Tennis
45%

Cricket
35%

fhdbe Wold dTel BIAT BT A=A =35%+20%
= 55% of 120
= 66

67. Ans. D
Explanation:
a, x,cCA.P.¥g a
2xXx=a+c
a+c=50.... (i)
a,y,cG.P.®Hg o
y’ = ac
49 = ac......... (i)
g B WX (i) AT (i)
a=1,c=49

68. Ans. D

Explanation:
1 1 1

AZ x A4 x A8 0
1 1 1
1,11

=A2 4 8 00

69. Ans. C
Explanation:
12 ex. U, V, M etc.

70. Ans. D
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Explanation:

71. Ans. B
Explanation:
Vv

ST

Sister

72. Ans. A
Explanation:

R — V—— S

+T
Aunt

73. Ans. C
Explanation:
S 3BR BT dh U HH 3Aolgd a9 ¢ |

74. Ans. D
Explanation:
Haifed Ygad 811 dATell dsh HSIgAT © |
75. Ans. B
Explanation:
240
JMAB BT D= Bl = ——x360=120
720
TIPY BT DRl DIV = @x360:90
720
76. Ans. C
Explanation:

AT IS wIE S Upfcd &1 7Y 2 |

77. Ans. C
Explanation:

(] o
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78.

79.

80.

81.

82.

Ans. A
Explanation:

AM.:Lfﬁzls.s

G.M.= (6x8x12x36)"* =12

4
HM.= 1 1 1 1 =9.93

+ +

6 8 12 36
Ans. C
Explanation:
4x—-6y=13
4x16—-6y=13
64 —13 =6y
6y =51
_51_

6

Y 8.5

Ans. A
Explanation:
1(n+1) 6 (n+1)
== " th D=—
N 4 ° 10

th

0y, OX_g 6t
4 10

2.75 th item = 62.75 6.6 th item = 81.20

Ans. B

Explanation:
W—W=3(W—Hﬁ€|‘cﬂ)
50-x=3(50-40)

50-x =30

X =20

Ans. D
Explanation:
an_n(n+1) (2n+1)
6
Y| 2n Ui AT BT Al
2n (2n+1) (4n+1)
6x2n

82 (n+1) th

P
82 100

82x11
100

th

9.02 th item = 120.20
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83.

84.

85.

86.

87.

88.

89.

90.

_ (2n+1) (4n+1)
6

Ans. B
Explanation:

Ifg x # gRadd 89 W y # uRade A1 & d T o) x T7 y U9 § Aedwd w8l
BHEAT ¢ |

Ans. B
Explanation:
e ONd SHT8 IR WS Y&l © |

Ans. C
Explanation:
Ay =a+bx B Al x Ty & 7= 1 AT b>0 AT -1 AT b<0 FESTEHT I[OTd BRI |

Ans. C
Explanation:

I foar g3 i A vifed fag U I ¥ et SR R &1 &R 1| 81 a1 Fomces
8T T |

Ans. A
Explanation:
AEAAROT gATHD, FONHS AT I A & Fhdl 2 |

Ans. D
Explanation:

Sraeiifard eI SIAIT o & SfaR BT UNITHT Filem # FfC A7 a9y FEd 2 |

Ans. A
Explanation:

THTTH B SHE NER (%, y) Ufaess a2

Ans. B
Explanation:
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91.

92.

93.

94.

95.

96.

Ans. A
Explanation:

0.92x6
byx=

byx+bxy =1.871

Ans. C
Explanation:

P(A~B)=1-

ol

Wik oo,

2
P (B)=1- -

P(AUB) ==+

wlnN

ol

N
Wl

Ans. A
Explanation:
(3,4)(4,3) (2,6) (6, 2

_4
36

Ans. D
Explanation:
5, G _ 7

12c, 12c, 968
5, 7¢, 5

X =

12c,  12c, 264

Ans. C
Explanation:

>
[

K
Il
N |l

AB' '+ BA =

Ans. B
Explanation:
SM

MT

TW

WT 53 TMFaR =

TF

~N N

16| Page



MITTAL COMMERCE CLASSES  __ CA FOUNDATION- MOCK TEST

FS
SS

97. Ans. D
Explanation:

E(x—g) % @ E[x—E(X)] =i & fa==or 2|

98. Ans. B
Explanation:

B(n, p) T8 faaxvr fgudiy fAdRer 8, $# MM n d2H p B 2 |

99. Ans. A
Explanation:
np=4
npg=3
49=3

q= = p:% 39y n = 16

4
1 17
dgaid  =(16 +1)Z—Z—(4)

100. Ans. A
Explanation:

10, 110
*( 2

Xk
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